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COHFHE (X071, 2) s t-CO2 29,063 25,831 25,682 27,487 24,785
22173 t-CO2 16,279 13,801 13,801 15,936 14,617
COHEHE (RI-71) g t-CO2 3,207 2,827 2,692 2,870 2,376
22173 t-CO2 2,302 2,066 1,945 2,217 1,948
COHEHHE (RI-72) g t-CO2 25,856 23,004 22,990 24,617 22,409
22173 t-CO2 13,977 11,735 11,856 13,719 12,669
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WITT—EEE s GJ 555,433 526,974 518,994 529,251 501,165
22173 GJ 313,208 297,269 290,510 305,444 304,836
BHERE S kWh 52,201 50,415 49,924 50,858 47,216
Bk kWh 29,251 28,560 28,179 29,436 30,228
BAAREIIT—FERE (BhH) i kWh 0 969 1,221 1,456 2,069
Bk kWh 0 969 1,221 1,456 2,069
BEAREIRIF b s % 0.0 1.9 2.4 2.9 4.4
Bk % 0.0 3.4 4.3 4.9 6.8
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KERE s Fni - - - - 151
22173 Fm 89 76 74 78 78
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L m\A | sitieE | g | 20204 | 20214 | 20224 | 2023%E | 202447 |
MBI SR u* 4, 252 3, 852 3, 427 3 177 2, 828
SN i )\ 1,901 1,813 1,700 1,512 1,471
Ble S B A 953 667 394 411 289
7T i A 1,398 1,372 1,333 1,254 1,068
EEH Bk A 1,551 1,512 1,415 1,231 1,198
s gk A 1,384 1,344 1,265 1,094 1,067
(%) (89.2) (88.9) (89.4) (88.9) (89.1)
- w4k A 167 168 150 137 131
(%) (10.8) (11.1) (10.6) (11.1) (10.9)
EERBEAHNEFNBEOEIS BR % 68.8 82.4 73.9 87.5 89.5
FHEHASCFTEL TV EESDEIS 27N % 94.2 94.1 93.4 93.8 93.2
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R RER 22173 A 26 2 2 1 1
B4 =217 A 20 2 2 1 1
7% B4R A 6 0 0
IRERFAE R 2873 A 18 9 7 21 37
BE =173 A 16 9 7 19 35
74 BigK A 2 0 0 2 2
IFIERERNSIERERNOER =173 A 4 5 1 0 2
iRERFALER 27N % 46 88 80 95 98
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BRI EHHILZEFBEOES BR % - - 1.3 2.4 2.2
BUOEEER (&5EE) x1 27N % - - 67.6 67.3 67.7
BLoESEE (ERERPBE) xt Bk % - - 71.9 70.7 71.8
BHOELEE (\-NBEASEE) x1 217N % - - 88.0 89.5 77.7
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BRAEHENMRAELR x2 BR A 7 16 26 23 25
B4 =178 A 2 7 22 18 19
7% B4R A 5 9 4 5 6
BHOBRAERSE %3 217N % - - 57.0 75.0 67.9
B RIS EEFEHIEF FAEE BR A 35 37 30 30 28
B4 BigK A 0 2 2 3 2
7% B4R A 35 35 28 27 26
MEARESIEFAES Bk A 0 1 1 0 1
BiaAIREISES B 22173 =] 10.5 12.2 15.5 15.5 14.5
BfakIREYSE= Bk % 54.4 63.9 79.1 78.7 71.4
B9 @esE 22173 B 12.9 12.1 15.5 25.1 23.4
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==0%N #“# 7 2 10 9 4
IREKE1HER s # - - - - 7
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ENfFIER xa 9 9 9 9 9
BE %{7& )\ 9 8 8 8 8
7 BigK A 0 1 1 1 1
AR BR A 2 3 3 3 3
B4 BigK A 2 2 2 2 2
7% B4R A 0 1 1 1 1
HHERHTS BigK A 7 6 6 6 6
BE =173 A 7 6 6 6 6
74 BigK A 0 0 0 0 0
BB x4 Bk A 4 4 4 4 4
B =217 A 4 4 4 4 4
7% BiK A 0 0 0 0 0
HNEERT BigK A 2 2 2 2 2
B4 BiK A 2 2 2 2 2
74 BigK A 0 0 0 0 0
HANEERTR BR A 2 2 2 2 2
B4 BigK A 2 2 2 2 2
7% =173 A 0 0 0 0 0
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